
Installation Instructions
Back Panel Kit for   

GearBoss® AirPro® Lockers

©Wenger Corporation 2018	 Printed in USA 2018-09	 Part #241A130-01

Wenger Corporation, 555 Park Drive, P.O. Box 448, Owatonna, Minnesota 55060-0448
Questions? Call.....USA: (800) 4WENGER (493-6437) • Worldwide: +1(507) 455-4100 • wengercorp.com

Contents
Before Installation	�������������������������������������������������������������������2
Required Tools	������������������������������������������������������������������������2
Island Mounted Locker Fasteners	�������������������������������������������2
Wall Mounted Locker Fasteners	���������������������������������������������2

Island Mounted Locker Installation	�����������������������������������������3
Wall Mounted Locker Installation 	�������������������������������������������4

Visit the GearBoss web page at www.gearboss.com for detailed instructions and videos.

Note:	 Please read and understand the instructions before starting the assembly or installation.
Note:	 If you need additional information, contact Wenger Corporation using the information below.

Island  
Mounted Locker Wall  

Mounted Locker



2

Island Mounted Locker Fasteners

1/4-20 
Hex Cap Nut

1

Required Tools
·	 Cordless Drill with Phillips and 5/32” Hex Bit 

or
·	 Phillips Screwdriver and 5/32” Hex Wrench

The Back Panel Kit is only intended to be installed on GearBoss AirPro Lockers.
A separate kit is available for either island mounted configurations or  
wall mounted configurations, these instructions detail both procedures.
See the original instructions for additional locker information.

Before Installation

1/4-20 x 1.575” 
Machine Screw

2

Wall Mounted Locker Fasteners

#10-5/8” 
Sheet Metal Screw

3

1/4-20 x .708” 
Machine Screw

4



3

Island Mounted Locker Installation

1.	 Remove any shelves and hooks from inside of the lockers.
2.	 Align both Back Panels through the inside rear of opposing lockers. 

The pilot holes fit to the grid pattern as shown in the detail.
3.	 Connect the Back Panels together using one 1/4-20 Hex Cap Nut and  

one 1/4-20 x 1.575” Machine Screw in each corner.
4.	 Reattach any previously removed shelves and hooks.

This is the procedure for installation on Island Mounted Lockers. 
For installation on Wall Mounted Lockers, go to the next page.

1/4-20 x 1.575” 
Machine Screw 

(11)

1/4-20  
Hex Cap Nut 

(1)

Align and attach through 
the grid pattern

Back  
Panel

Back  
Panel

Pilot 
Hole

Pilot 
Hole



4

Wall Mounted Locker Installation

1.	 Remove any shelves and hooks from inside of the lockers.
2.	 Attach one Mounting Bracket to the existing hole at each inside corner of the locker frame 

using one #10-5/8” Sheet Metal Screw (3) as shown.
3.	 Fit the pilot holes in the Back Panel onto the Mounting Brackets and attach each corner  

using one 1/4-20 x .708” Machine Screw (4).
4.	 Reattach any previously removed shelves and hooks.

This is the procedure for installation on Wall Mounted Lockers. 
For installation on Island Mounted Lockers, go to the previous page.

1/4-20 x .708” 
Machine Screw 

(4)

Back  
Panel

Pilot 
Hole

Hole in 
Frame

#10-5/8” 
Sheet 
Metal 
Screw 

(3)

Mounting 
Bracket


